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sin 260 = 2sin 6 cos 0 (1)
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#include <math.h>
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#include <stdio.h>
#include <math.h>
JOrIMTEE
double functionl (double x); -<— B A E D=, EUMEEEIR
double function2(double X);  g— OE%ERS

/* */ }:EU_G)&%
/*  main function */
/* */
int main (void) {
int [kakudo;

e
double pi, theta, yl, y2;

pi=3.141592;

for (kakudo=0; kakudo<=360; kakudo++) {
f— = * 1 .
RYiE theta kakudo*pi/180.0;

T

yl = functionl (theta); S
y2 = function2(theta); BESFEUNHL ﬁ
printf ("%d\t%1£\t%1£f\n", kakudo, yl; 'T‘@
LR
N
return 0; o A B".\J =
} s 20
£ y D% Y
e
& g
/% <<<<<<<<<< THBIBEIE, T I—F 2 >>5555555555555555>>5>5/>>>>>% /
/* S N
/*  sin(2x) DFE \ */ 2 x
/% */ %
double functionl(double x) { - g5 Y -
double y; m -
. I
y=sin(2.0%*x);
Es
return y;
/* */
/* sin (x)cos (x) DFHE */
/* */
double function2 (double x) { 4—/
double y; m
. IS
y=2.0*sin (x) *cos (x) ;
o
return y; ok
}
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#include <stdio.h>
void swap(int *i, int *j);

/* */
/* main function */
/* */
int main(void){

int a, b;

char temp;

printf("a = ");
scanf ("%d%c" ,&a, &temp);

printf("b = ");
scanf ("%d%c" ,&b, &temp);

swap (&a, &b); /* 000000 =%/

printf("a=%d b=%d\n", a, b);



return O;

X
/* */
/x 00000000 x/
/% */
void swap(int *i, int *j){

int temp;

temp = *i;

*j = *j;

*j = temp;
¥

*i

*j

swap
DT

temp
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kansu (hoge) ;
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int hoge[100], fugal[200] [300], foo[400] [600] [600];

kansu(hoge, fuga, foo);
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#include <stdio.h>

int diff_ave(int n, int datal]);

/* */
/* main function */
/* */

int main(void){
int seiseki[10], average, i;
char temp;

for(i=0; i<10; i++){

printf("4d 0000 =", i);

scanf ("%d%c" ,&seiseki[i], &temp);
}

average=diff_ave (10, seiseki); /¥ 000000 =/

printf("O000 = %d\n", average);
printf("000000\n");

for(i=0; i<10; i++){
printf("%d 0 = J%d\n", i, seiseki[i]);



return 0;
}
/% */
/* O0oooooOooo */
/% */

int diff_ave(int n, int datal]l){
int i, sum, ave;

sum=0; /* OO0 */

for(i=0; i<n; i++){ /* 000000ooO */
sum = sum + datal[il;

}

ave = sum/n; /* 000000 =%/

for(i=0; i<n; i++){ / 000000000 =/
datal[i] = datal[i] - ave;

}

return ave;
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